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- Standard Form of Quadratic Functions
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Find th@m roots, x-intercepts, or zero}Also find the vertex, y-intercept, and the equation

for the axis of symmet

%iy y=x>+ 5. y=x"—2x-15 -
a=ib b =Jde =15
roots: f roots: (~3Jb)J (5,6)
vertex: =4 vertex: (!)-Iée\
y-int: { AN y-int: (O,“]S)
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solutions:
vertex:

y~intercept:

axis of symmetry:

3. y=x"—6x+9
a=lb ="be =9
solutions: (3 o) ¢ X-‘S

(3,0 ) g b R FS BB (1)
QQQ“”, —" y-intercept: { ©,~5)

axis of s mmetry: ’(g axis of symmﬁetry
g X x=35 =-1Lx=T])

4. y=x2+2x‘—3 . o _ 8. y=2x*-9x-5 ‘
a=|b=dc="23 a=Jb —70— - ny @g{:
seros: ( 1, O) (-3 Gy e 5 3, ’?;‘ xint: (5,0 (‘”’a 5,0 X

vertex: ( pe) i ertex: (2,25;( 5,!263
[o‘c)eﬁy—lntercept. 0,"37) y-intercept: /6 | —~S\} ,
axis of symmetry: axis of symmetr,
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